racen met Zoem

JUF JOYCELLA

plussommen tot 20, blad | }
hoeveel sommen maak jij goed in | minuut? Z&°
JlJ g
3+5=8 6+8=14] 5+10=15
12+7=19 ] 16+1=1/ 3+8=11
12+2=14] 4+15=19 | 92+3=12
1+13=14] 3+16=19 5+8=13
1+9=10] 4+14=18| 2+11=13
5+3=38 15+4=19 9+4=13
2+/7=16 3+1=4 1+4=5
/+10=17/ 3+2=5 10+7=1/
10+10=20| 6+ 11 =1/ 2+17=19
1+ 11 =12 2+14=16| 156+4=19
3+8=12] 17+1=18] 12+3=15
3+1=4 3+7=10] 3+2=5
9+11=20 /+5=12 6+9=15
11+9=20 2+9=1] 3+6=9
2+13=15] 5+11 =16 1+7=8
1° keer




racen met Zoem

JUF JOYCELLA

plussommen tot 20, blad 2 }
hoeveel sommen maak jij goed in | minuut? Z&°
Jij g
1+7=28 19+ 1 =20 1+1=2
4+16=20 8+5=13] 13+7=20
5+8=13| 10+2=12 S+ /=12
1+15=16| 2+13=15| 1+14=15
1+4=5 2+15=17 S+7=12
6+ 13=19 | 12+1=13| 4+ 12=16
1+8=9 S+ 11 =16 1+4=5
6+7=13| 9+4=13 9+6=15
13+3=16 2+4=56 2+13=15
12+7=19 | 12+6=18| 2+15=1/
14+5=19 | 11+8=19] 12+ 1=13
2+17=19 2+4=13 ] 5+11=16
3+8=11 6+9=15 2+4=13
11+7=18| 14+6=20] 2+4=56
5+9=14 /+7=14] 12+6=18
1° keer




racen met Zoem

JUF JOYCELLA

plussommen tot 20, blad 3 }
hoeveel sommen maak jij goed in | minuut? Z&°
Jij g
1T+5=16| 2+ 13=15| 12+5=17/
1+4=5 2+15=17/ 8+4=12
6+13=19 4+6=10| 14+4=18
1+8=9 11T+5=16| 1T+10=11
6+7=13 1+1=2 14+ 4=18
13+3=16] 16+1=1/| 5+13=18
12+7=19 | 17+3=20| 13+ 1 =14
14+5=19 1+9=10] 1+11 =12
2+17=19 | 1+1/7=18 4+9=13
3+8=11 2+5=14 | 13+5=18
11+7=18 +6=14| 10+6=16
5+9=14 5+8=13| 13+3=16
19+1=20] 156+4=19 6+9=15
8+5=13| 1+12=13 2+9=1I1
10+2=12 3+/7=15 6+4=10
1° keer




racen met Zoem

JUF JOYCELLA

plussommen tot 20, blad 4 }
hoeveel sommen maak jij goed in | minuut? Z&°
Jij g
3+4=7/ 2+5=7 5+8=13
1+ 11 =12 4+1=5 3+10=13
5+10=15 2+4=13| 14+ 6=20
8+9=1/7 | 10+7=17 8+3=11
5+3=38 14+2=16 ] 10+4=14
/+13=20] 16+3=19 ] 8+10=18
3+6=9 S+ 12=1/7| 14+5=19
/+11 =18 2+2=4 | 1+14=15
2+2=4 12+ 38 =720 /+2=9
12+5=1/ S+ /=12 3+2=5
8+4=12| 9+10=19 S+ 1 =6
6+11=17| 3+12=15| 4+16=720
1+6=7/ 12+ 8 =720 6+8=14
2+6=15| 3+16=19 5+9=14
12+6=18| 8+2=10| 8+8=16
1° keer




racen met Zoem

JUF JOYCELLA

plussommen tot 20, blad 5 }
hoeveel sommen maak jij goed in | minuut? Z&°
Jij g
2+14=16 S5+6=11| 3+17=20
1+12=13| 3+6=9 /+6=13
13+5=18| 94+411=20] 8+4=12
1+2=3 3+7=10|] 8+3=1]
5+ 10=15| 2+18=20| 12+3=15
100+5=15| 6+14=19 4+1=5
3+12=15 S+2=7 S+1=6
6+8=14| 3+1=4 10+5=15
4+13=1/ 3+/7=10] 1+13=14
11+4=15 2+2=4 2+ 18=20
10+2=12| 13+4=1/] 5+ 14=19
5+10=15] 16+2=18 S+2=7
3+1=9 /+8=15 2+9=18
12+7=19] 6+14=20] 10+8=18
1+14=15] 2+11=13| 6+ 11 =17/
1° keer




